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Questions : 1

Which word is the odd one out?
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View Answer

Ans: Tap

All the other three letter words are spelt out by alternate letters of one of the seven letter words,

for example ASTOUND = SON

Questions : 2


https://meritnotes.com/puzzles/odd-one-puzzles/1-77776/#collapseThree1

Which of these is the odd one out?

View Answer
Ans: F

A is the same as D
B is the same as E
Cis the same as G

Questions : 3


https://meritnotes.com/puzzles/odd-one-puzzles/1-77776/#collapseThree2

Which is the odd one out?
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View Answer

Ans: B

The rest are the same figure rotated.
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